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(D Okay. I'll help you find an interesting topic.

@ I'm glad that you came to my art presentation.

@ You'll learn a lot about art through the presentation.
@ Don't worry. Your presentation was not boring at all.

® T have no idea why the presentation schedule was changed.
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(D Okay. I'll help you find an interesting topic.
(@ I'm glad that you came to my art presentation.
@ You'll learn a lot about art through the presentation.
@ Don’t worry. Your presentation was not boring at all.

® T have no idea why the presentation schedule was changed.
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(D Don’t worry. The forecast says it’ll clear up soon.

@ You're too late. Your flight already departed.

@ Then, I'd like to get a refund for this ticket.

@ That's right. We can reschedule your meeting.

® No problem. We'll change your seat to the aisle side.
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(D I think you need to take a break for a while.
@ I recommend you return your book soon.
(@ I'd suggest changing where you study.

@ you’d better review what you learned.

® you should’ve slept more last night.

A

il 24 =
T Hi 5742 MEiX | = SEet BBE ST S SHFEE HEI02HE & 4 0],

W S7H2 MEHX|= o i SStofl A Z1Rlat ZHo| CHSHS LiF2 QU= H30[X|?
2 A K] EURI?

=3

M

0| Z25t 1R LS. & 10| QAOIAf LIZ 0[0F7[0F. B22 SHAYS0| 1 i} S9! 5t 4
2 £3101. 1211 1 0192 20| L2 B3| (h20J2kD Y|, YRS FHH2ILIZ HZ0| op S31
LF200] 271 $HXI2H MEAXIS ST Of ABZERY}LISA| 0l2) 058
2 T 24340}, 02 02| O 5S 5t UOH 1 MBYFHIOIN LIS 4 %
MRS M5 B2 HEC Y S2AZE. S 17HE S2IX| 0N Sl SMSe 0| Hg BE

—'9

2. =k =01, KiXI| ofX|a} 2o thet JAte] SEHe2 7Hd KEet A2 12AR. (15. +5)

(D No problem. I'll pick up your daughter.
@ You're welcome. It’s my pleasure.

(@ Wow, this winter is really cold.

@ T agree. The timing isn’t good.

(® Okay, let me take a look.
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